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tf-idf(¢t, d, D) = tf(¢, d) x idf(¢, D)
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S python make_word_Llist.py hana.txt
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3. HFEYU X bz BEE CHERLI-OUTZET

S python make_word_list.py hana.txt ﬁ\hana_words.txt
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make word_Llist.
make _word_list.
make word_list.
make word_Llist.
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kokoro.txt > kokoro_words.txt
kumo.txt > kumo_words.txt
merosu.txt > merosu_words.txt
ningen.txt > ningen_words.txt
rasho.txt > rasho_words.txt
sorekara.txt > sorekara_words.txt
waganeko.txt > waganeko_words. txt
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S python

Python 2.7.11 (default, Dec 15 2015, 19:21:39)

[GCC 4.2.1 Compatible Apple LLVM 7.0.2 (clang-700.1.81)] on darwin
Type "help", '"copyright", "credits" or "license'" for more
information.

>>> < PythonDXfEEMR 7 A > 7 b
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>>> from sklearn.feature_extraction.text import TfidfVectorizer
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>>> f = open('hana_words.txt', 'r')
>>> hana = f.read()
>>> f.close()
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>>> kokoro =
>>> kumo =
>>> merosu =
>>> ningen =
>>> rasho =
>>> sorekara
>>> waganeko

open('kokoro_words.txt', 'r').read()
open('kumo_words.txt', 'r').read()
open('merosu_words.txt', 'r').read()
open('ningen_words.txt', 'r').read()

open('rasho_words.txt', 'r').read()

= open('sorekara_words.txt', 'r').read()
= open('waganeko_words.txt', 'r').read()
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>>> print("%s" % merosu)
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>>> docs = [hana, kokoro, kumo, merosu, ningen, rasho, sorekara,
waganeko ]
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>>> vectorizer =

TfidfVectorizer (use_idf = True,

stop_words =

['http', 'www',

'aozora'])

[TF-IDFOF 72 3 > (—#F)]

e use idf

« IDFAZFABET2HE D (Truel|False)

e stop_words
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>>> tfidfs = vectorizer.fit_transform(docs)
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>>> terms = vectorizer.get_feature_names()
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>>> print('%s"' % ' '.join(terms))
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°_FF—H)F0)§§fR 0FH DX ZE (hana.txt) DTF-IDF
>>> tfﬁdfs.toarray()[@]*’//)"////’
>>> array([ 0. , 0. , 0.12455, 0.18015, 0.
0. ,  0.09007, O. , 0. , 0.18015,
0. 0. , 0. , 0. ,  0.09007,
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>>> from sklearn.decomposition import PCA

« TR D TEs DR

>>> pca = PCA(n_components = 0.9, whiten = False)
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>>> pca.fit(tfidfs.toarray())
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>>> pca.n_components_
>>> 6
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>>> for i1 in range(pca.n_components_):
tc = zip(pca.components_[1], terms)
tc.sort()
tc.reverse() « CWDoERLLT ERFER
praint (" [PCA%d]" % (i+1))
for v,t in tcl[:10]:
praint("%f,%s" % (v,t))
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>>> X

pca.transform(tfidfs.toarray())
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>>> from matplotlib import pyplot
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>>> pyplot.ion()
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>>> pyplot.clf()
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>>> name = ['hana', 'kokoro', 'kumo', 'merosu', 'ningen', 'rasho',
'sorekara', 'waganeko']
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>>> colors = [pyplot.cm.hsv(0.1 *x i,1) for i 1in range(len(name)) ]
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>>> for 1 1n range(len(name)):
pyplot.scatter(x[i,0], x[1,1], c=colors[i], label=name[i])
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>>> pyplot.legend(loc = 'lower left') < ETICERR
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